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A,B ∈ R
3×3 � � � �.�!�.���a�5�����

A =





1 −1 1
0 1 0
1 0 −1





�5�?�
B =





2 3 −1
−1 0 0

1 1 2



 .

� �.���3���5�?�.��4��/�M�a�/�S���� ¡�¡�£¢��.�
A · B

�5�?�
B · A ¤5¥�¦�§ �/� A + B

�5�?�
B + A

;
�~�2�#���5���]�©¨
ª�� � �.�!�.� ¥ �.�(�a�/�m�s�� ¡�¡�¬«

A =
1

5

(

3 4
4 −3

)

.

­ �£���,�. ¡�®���®�¯ ��.�°�a�/��±²�5�5�£³/�a�5� � x 7→ Ax ´ �£  D(A) = R
2
; � �.���3�®�5�?�.�X4��/���?� ¥ � �£³/���5�.�µ �5�5¶< ��

(1, 0)T , (0, 1)T , (2, 1)T
�5�?�

(−1, 2)T
;!·��.�®��� ¥ ���P���5³£�/���?�.�B4��/� ¥ �/�®�°�a�/� ­ �£�¡¶��5� ��5�.��±¸�5�5�£³/�a�5� � ���a¹��a�/� � � � �.�!�.�?�.� µ �5�5¶� ��|���5�P���?�U�.�£�?�.�S4�¶<�£¢3¢��
; ­ �/� §»º ���5�.��4��/�m�a�/� ¥ �±²�5�5�£³/�a�5� �g� � ¦�´ �. ¡�¡� ¥ �®���!� ¥ ���5���.�£�!�.��¼�~�2�#���5���]�7½

­ �£�¸�5�¿¾?�5�/�.���.�U�a�/�M�s�.� � �S�5�.� µ ¦ ³£À<� ¦�´ �_��³ ¥
P := {p : D(p) = R → R : ∃n ∈ N, α1, . . . , αn ∈ R : p(x) =

n
∑

i=1

αix
i}.

Á � ¥¡§ �.�£ ��.���.�Â�5�¿¾?�5�/�.���.� § �£�g�a�/�U±»�5�a�£ ¡� ¦ �Ã�5�?�Ã�a�/�s4�¶
��³���� ´ �5³£ ¡�£Ä5³£�£¶
�� ¡� ¦ �Ã¹ º �gÅi³/� ´ �.�� ��
p, q ∈ P

�a�5���®�
(p + q)(x) := p(x) + q(x)

�5�?�
(λ · p)(x) := λ · p(x).



Æ ��Ç�È,�.� � �.�]4��/� ¤ �?� ¥�¥ P
�.�£�7·��.¶<  ¦ �¡�®��� ´Éº �!�.� R

� ¥  �;Æ ��Ç�È,�.� � �.�s4��/� ¤ �?� ¥®¥ �a�/�M�U�.� � � {1, x, x2, . . . , xn}
¹ º �ËÊ��3�5� ¥ n ∈ N

³£�£�?�����¸�5�P���5�PÌ�� � � �� ¥  �; ­ �.³/���?� Á � ´ �.� ¥ � ¦ ���P�� Í�5�.�Í·��.¶�  ¦ �¡�®��� ´ P
¼

ÎuÏ z_Ð��m��z_�|�
�~�2�#���5���UÑ]�

Æ ��Ç�ª�� � �.�!�.� ¥ �.�(�a�/� 2 × 2 Ò �s�� ¡�¡�¬«
A =

(

a b

c d

)

,

§1¦ �,�.� a, b, c, d ∈ R ´ �£  ad − bc 6= 0
;iÈ,�.� � �.�Ó4��/� ¤ �?� ¥�¥ �a�/�g¢3� A

�£�¯Ô��.� ¥ �~���� ¡�¡�¬«� � � �.�!�.��� ¥  Í�a�5���®�
A−1 =

1

ad − bc

(

d −b

−c a

)

.

Æ ��Ç_Õ(Ö ¥ �.�s4��/�S�?� ¥ ³£�£�?��������ª×³/�.�/�����5� � ¥�¥ À ¥  �� ´
(

2 −1
4 3

)

x =

(

2
5

)

, x ∈ R
2.

Æ ��Ç�ª�� � �.�!�.�s4<�.���a�/�m�s�� ¡�¡�¬«
A =

(

0 1
−1 0

)

.

� �.���3���5�?�.��4��/�
A42
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Þ Á �/�S�s�� ¡�¡�¬«��!� ¥ ���5���.�£�5 ¸�a�/� Á ���.���5� � � ´ �5�.�©ß²� ¥ Ä5�¡�5� � ´ �£  ­ �£�5¶��.³ π

2

;
�~�2�#���5���UÑU¨
­ �£�Í�!�. ¡�®�����¯ ��.�s�a�/�M·��.¶<  ¦ ���.�

p1(x) = 1 + x, p2(x) = x + x2, p3(x) = x2 − 1 p4(x) = x ∈ P,

§1¦ �,�.� P
�5�.�»·��.¶�  ¦ �¡�®��� ´ �5�.� µ ¦ ³£À<� ¦�´ �_��� ¥ ±¸�a¹ � ���,�mªSà|� ¥  �;Æ ��Ç_Åi��  ¥ ���?�.�/�5�.��4��/� ¤�¦ ���a�/�²�s�.� � �.� {p1, p2, p3, p4}

�5¢ § ; {p1, p2}
³£�£�?�����"�5�P���5�PÌ�� � � �¥ �£�?�%;Æ ��Ç � � ¥  ¡� ´Z´ �.�]4��/�M�a�/�M³£�£�?�������Sá º ³£³/�MÔ ¦ � {p1, p2, p3, p4}

;


